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(A) She |

; (B) You
(€) We BV All of the above
A board of directors refused new proposal.

{Which word is a collective noun "
(A) refused B board of directors

(C) new (D) proposal
Government to provide quality
bealth care to the people.

('A) commit (B) committing

JCY s committed (D) will committed

My father books to money.
(A) prefer (B) s prefer

JCY prefers (D) are prefer

She in this house since 1980.
(live)

tA) will be hving B7 has been living
(C) will hive (D) has lived

The moon at night. (shine)
(A} shine (B) shining

{U) did shmes DY shines

He i20) for a walk everyday.
{A) will o (B) going

ST goes (D) went

i cut my hair every month.
{A) has o {B7 have to

() had o

T
e | %
| -

(D) None of above 1

1

|

I

|
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10 Name the tense. "When the Prime Minister
left the Parliament Mr. L. K. Advani was
speaking”.

(A) Present [mperfect Tense
(B Past [mperfect Tense
{C) Present Indefinite lTense
(D) Past Indefinite Tense

[ find it hard to0 with the other
students in the ltalian class as they have
been attending the classes more regularly
than | do.

(A) call in

{C)~ catch up

(Q. 12-16) : Read the passage carefully and
answer the following questions :

Be like a flower. One must try to become
like a flower : open. frank, equal, generous
and kKind. So you know what it means ?

A flower is open to all that surrounds it
nature, light, the rays of the sun, the wind etc.
It exerts a spontaneous influence on all that is
around 1. It radiates joy and beauty.

It is frank. It hides nothing of its beauty
and lets its fragrance {low frankly out of itself

(B) do awa)
(D) come up

- What is within and what is in its depths. it lets

it come out so that everyone can see it.

It 1s unbiased: it has no preferences.
Everyone can enjoy its beauty and its perfume
without rivain. It is equal and the same for
everybody. There is no ditterence. or anything
whatsoever.

Then, generous: without reserve or
restriction, it gives away the mysterious beauty
and the venn own perfume of Nature. It
sacrifices itselt entirely for our pleasurc. even
it sacrifices its life to express this beauty and
the secret of the things gathered within itselt

And then. Kind: it has such a tendemess.
it is so sweel, so close to us, so loving. lis
presence fills us with joy. It is always cheertul
and happy.

5
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Answer the follow

selecting the most approp
ones given below -

INg questions by
riate option from the

12 A flower is Compared ...
(A) with al] living things
with human beings
(C) with girls
(D) with a child

13 A flower is open to all because
(A) it influences all

(B) it radiates joy
(C) it spreads its beauty to all
D7 all of these

----------

14 The refined qualities of a flower are
(A) fragrance and beauty
«B7Y generosity and kindness
(C) equality and attractiveness
(D) frankness and honesty

iiiiiiiiiii

1S The writer talks about

(A) rose flower
(C) lily flower

iiiiiiiiiii

(B) lotus flower

{Dyall flowers

16 A spontaneous influence means ..........
(A) a slow influence
(B) a quicker influence
€7 naturally created influence
(D) a casual influence

17 A more developed model of this car
___in the showroom soon.
(A) is going to show
JBY will be shown
(C) was shown
(D) has been shown

CMKP9_D |

18 Antonym of Blunt -
(A) Easy (B) Lazy
{CJ Sharp (D) Speedy

19 Choose the correctly spelt word.

(A) Satestfy (B) Satesfy
(O Satisfy (D) Satasfy
20 Choose the correctly spelt word.

{A) Response (B) Respanse

(C) Respoonse (D) None of these

21 What Time......... e ans « s
(A) the train leaves?
(B) leaves the train?
(C) is the train leaving?
Dy does the train leave?

22 Which of the following name parts of
speech ?

(A Adjectives

(C) Subjects

(B) Passive
(D) Phrases

(Q. 23-24) : Choose the correct preposition :

23 He beat him a stick.
(A) For BJ With
(C) By (D) To
24 We are engaged our work.
(A) Into BY In
(C) At (D) On
25 That which cannnt%e seen -
(A) Unseen (B) Intangible
(Q)’invisib_le (D) Insensible
26 1 brought along a sandwich, |
get hungry.
(A) therefore - B in case
(C) only lf =+ #(D) when
27 Taipei is Taiwan.
(A) of (B) at
LSy in (D) from

[ PT.O.




28 Much of the countryside flooded. | 37 We be visiting him tomorrow.

was (B) were (A) were not (B) do not

(C) are (D) have been (C) are not JDJ shall not
29 ‘Shallow™ Find out ant

(A) high " (IEI) Ohl}zl:iz - 38 Select the wrong sentence.

ey d (A) The scenery here is very good.

ccp (D) hollow _
(B) We discussed the matter yesterday.

30 A lie has no legs - AC) She request for my help.

JAJ personification (B) metaphor (D) He gave me some advice.

(C) hyperbole (D) simile
39 Following the set of sentences are

2 participants left the meeting in combined into one simple sentence by
betw;: - using a participle and an infinitive. Select
fg/"l;zc;‘::v Eg; E[;f: the wrong combination.
| A He is very fat. He can run ........... He
1 is too fat to run.

32 Despite looking for her
couldn’t find her.

(B) I have some duties. | must perform

(A) somewhere  (B) anywhere them 82.°... | have some duties to
JCy everywhere (D) nowhere perform.
_ - ol (C) He deserved to succeed. He failed
33 He said to me, "You are my best friend. | He deserved to succeed but
(A) He asll;ed mehlf I] was Iﬁls Eest ff;:eng. failed.
JB) He told me that I was his best friend. :
(C) He told to me that I was his best (L) EI;J:E; idp uf:'e l:a;r::aayway """"""
friend. ) '
(D) He'told mgeific waiRGgest (e 40 The missing alphabets in "m_sc_iev_s"
34 Correct the sentence if necessary. | and are-
Dhoni went to college. (A)1sou (B) e h io
(A) I and Dhoni went to college. (C)ihiu {D2¥ihou
JBJ Dhoni and I went to college.
(C) Dhoni and me went to college. 41 The synonym of 'APPEASEMENT is -
(D) None of the above (A) favour (B) good turn

38 Meaning of “@lfken Foed® (C) helping hand D) conciliation
small mone T

ﬁ((gf))/ i 1:33: nT;ney y 42 Name the tense. "When Power lefl the

£ ‘Wankhade Stadium Yusuf Pathan was

() Food for thought »
& f l); None of lhcseg batting”.
5 (A) Present Imperfect Tense
36 Synonym of Exhort - «(B) Past Imperfect Tense
(A) Weak Plea  (B)To urge strongly (C) Past Indefinite Tense
(C) Beg (D) Borrow (D) Present Indefinite Tense

CMKP9_D ] 4 [ PT..
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43 We would never have had the accident if
you = 350 fast.
(A) wouldn't been driving
«B)" hadn't been driving
(C) had driven
(D) wouldn't drive

44 _ to school yesterday ?

(A) Do you walk

(B) Did you walked
(€} Did you walk
(D) Have you walked

45 Had they _arrived when you got
there ?
(A) after (B) before
(C) still (D) already

(Q. 46-47) : Select the correct pronoun :

46 What did _do about the car ?
(A) them «B) they
(C) their (D) that

47 My nephew was crying and needed
____ diaper changed.
(A) their «B7 his
(C) her (D) them

48 Choose either A, B, C or D for the correct
answer.
She ....228. at me.
(A) smile (B smiled
(C) is smiles (D) is smile

—— . R . < et T L
It e o T i o TR — T P L e Y
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51 Clove is obtained from -
(A) Root
(C) Fruit
" oura & o & - .

(A) 7% § (B) &7
(C) T & (D) & & e &

52 DRDIL. stands for -

(A7) Defence Research and Development
Laboratary

(B) Differential Research
Documentation Laboratary

(C) Department of Research
Development Laboratory

(D) None of the above

DRDL % -

(A) ieHE frad dz Fgeodz el

(B) fewitwam fgd Uz segi=em daErez)

(C) furddz amw oy Uz Fgaudz dazd

(D) Uty ¥ @ F1E 78

and

and

53 Heavy Water Project (Talcher) and
Fertilizer Plant (Paradeep) are famous
industries of -

{AY Orissa (B) Kerala

(C) Tamil Nadu (D) Andhra Pradesh

AR W 9REeT (@) 9 sdE qus

(artd) s s ¥ -

(A) &1 o (B) &t o

(C) afe g ¥ (D) g wior &
54 FRS stands for -

(A) Federation of Regulation Society
(B) Fellow Research System

}!e on the ground when he was (€] Fellow of Royal Society
hit. ' (D) None of the above
(A) lain (B) laid FRS & -
k553 e Dy lay (A) B8 A% TrisA draras)

. 50 he is 25, he is still at school. (B) i e _

: - (C) % % Taw H@rETeA
{A) Although (B) While N 2 _
(C) Because (D) Whatever I 3 (D) TH B T
CMKP9 D | 5 - [ PT..




AN T:‘he Central Rive Research Station is
sttuated i -

{A) Chennai A Cuttack
() Bangatore (M Quilon
HRT W SYEUE R Ry
(A) a8 & (B) w2w §
(C) Rl 8 (D) Raew &

Which of the tottowing is related to Bharat
Niman Scheme ?
(A\) Foodgrain production self sufticiency
(8) Family weltare programme

Y Infrastructure development
(D) BEmployment generation program
e ] a v Bvter Qo @ wefue
R ?
(A) SRR SRS arstRar
(B) wiat s sds
(C) wui® wET e
(D) VIR O HIHH

§7 Golt player Vijay Singh belongs to which
countny ?
(A) India JBY Fiji
(C) UK (D) USA
e fEa Raw e e u & s
| 3K
(A) NI (B) Resil
(C) & (D) LUE.T.

58 Film and TV Institute of India is located
at -

&Y Pune (Maharashtra)
(R) Pimpri (Maharashtra)
{C) Perambur (Tamil Nadu)
(1?) Rajkot (Gujarat)

Reey U3 A . R W6 shew Raa ¥ - |
() @ (wer) W
(R) AU (werasy) H

(C) TR (aiterg) ¥

- CMKP9. D]

&0 For seeing objects at the surluce of water
from o submarine under water, the

instrument used ts -

WY periscope (B) telescope

(C) kaleidoscope (D) spectroscope
qeht &% N9 tged ¥ eh 8 waw O aRgel
w e ¥ fr, Rrg dw & guam s, a8

t _
(B) Tehranig

(A) vy
(C) woRseEy (D) Qe

60 Golden Temple, Anritsar is India’s -
{AF largest Gurudwara
(B) oldest Gurudwara
(C) Both option (A) and (B) are correct
(D) None of the above
TMEET TUW, FYART NI T -
(A) faarerew e €
(B) wreaw qoam &
(C) A (A) § (B) w8 ¥
(D) ST ® q Wg 8

61 Which is largest flower in the world ?
JAY Rafflesia
(B) Jasmine
(C) Balloon Flower
(D) Camellia
g o AE ST G BN ¥ P
(A) TwRitT
(B) q|H
(C) ¥ v
(D) il

Panama Canal linked which 2 oceans ?
JAY Atlantic and Pacific

(B) Atlantic and Indian

(C) Arctic and Pacitic

(D) Indian and Pacitic

62

AL T el
i Y

AT e e A 6 2 e @ g
(A) yewites ol W
(B) ewits ¥ fg
(C) Jhies § wid
(D) &= @ wwia
| RT.O.
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63 Which movie is to be the first Bollywood

film to go plastic-free?
(A Coolie No. 1 (2020)

(B) Dil Bechara

(C) Shakuntala Devi

(D) Gunjan Saxena — The Kargill Girl
ﬁmt ?gaﬂﬁ%mwmﬂw frr -
(A) F&t 5. 1 (2020)

(B) && d=mq

(C) yg=aen 2N
(D) o g - & HRAW T

64 Prime Minister Shri Narendra Modi
launched the National Animal Disease
Control Programme from where in Uttar
Pradesh on 11th September 2019 ?

(A) Lucknow (B)y"Mathura
(C) Agra (D) Ayodhya
qorrE A T A Y T gy T R

Frdma &1 gerew 11 et 2019 @1 39T
wagr § &l @ fear &’

aaaaa

.65 Who defined the law of gravitation ?

JAY Newton (B) Archimedes
(C) Galileo ([g;ﬂl;ar%ﬁy
Tearsdu & Frad @ ?
(A) T (B) SEHIE
(C) Hfufaa (D) b=

66 The word ‘Satyameva Jayate’ is taken from

(A) Yajur Veda
(B) Atharva Veda
. {&"Mundaka Upanishad
~{D) Sam Veda
| g WAy 9= %E 4 T g

n

song ‘Sare

67 Who composed the famous
Jahan Se Achha’ ?
(A) Jaidev
By Mohammad Igbal
(C) Bankim Chandra Chatto
(D) Rabindranath Tagore
qorey Mq @R T A areRr @ @ frea
&7

padhyay

68 In which of the following states is the
Hornbill Festival held annually ?

(A) Sikkim (B)Nagaland
(C) Assam (D) Bengal
fr § § fpg g F wSW 389 @l
S e s € 7

(A) fafermm (B) TS
(C) araw (D) STt

69 Who was the 15t ODI captain for India ?
JAY Ajit Wadekar |
(B) Bishen Singh Bedi
(C) Nawab Pataudi

(D) Vinoo Mankad
ar % RU qEe @9 ¥ H9 B 91 1

70 What is the name of the person that
controls a football match ?
Ay A referee (B) An umpire
(C) A spectator (D) A goalkeeper

peaiel 49 &1 FEPE BT A e H A
C)
(A) T (B) amumax
(C) W (D) TiieaiaT
[ P.T.O.




T Who was the inventor of electricity ?
(A) Benjamin Neon
(A7 Benjamin Franklin
(C) Leonardo da Vinci
(1)) Vikings
faoehl & snfresros ww @ 0
(A) vt frdw

72 What is the gap between the orbit of Mars
and Jupiter called ?

JLAT Asteroids (B) Comels
(C) Meteor (D) Meteorite
W 9 qEEi B wE % A % few wm @
wEal?
(A) g (B) ywig
(C) e (D) Swfiys

73 Which of the following is planning to
invest in technology start-ups in India ?
(A) Google Alphabet

(B Facebook
(C) Apple
(D) Intel Corp
et & 4 B wma ® saife wdem A
PRy Qo e w k7
(A) TT® HEHAZ
(B) uy®
(C) Taw
(D) =™ &

74 Which Insurance Policy is launched to
cover the hospitalisation expenses of the
COVID-19 patients ?

(A) L1C Jeevan Saral

(B) Jecvan Saral

(IC ) Jeevan Anand
(DY Arogya Sanjeevani Insurance Policy
wfiE 19 Vi) & srwa WAl @d B AT
B % R @ 8 d o g R Tk 2
(A) LIC dEs 8§
(B) das g1

(C) WET HA= g
(D) s goed @ i

CMKP9_D |
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78 Which of the following is the numerical

coeflicient of rzyz ?

fror & ehw y2)2 W wwrens e ¥ 7

(A) 0 Jiy
(C) x2 D) »?

76 Which plastic is unbreakable ?
JA) Thermo (3) Thermosetting
(C) Heated (D) Pasteurized
- enfew gz a8 ¥ 7

(B) untgiEn

77 Vitamin E is important for -
(A) protecting cells
(B) vital tissues protection
JCrboth (A) and (B)
(D) development of bones
Rraf E meeagel & -
(A) SR & wn & g
(B) wewqul ami @ T % frg
(C) (A) ¥ (B) Tl
(D) wfyat & frre & g

78 What is the full name of Google ?

(A) Global Organization Ol Oriented
Group Language

(B) Global Organization Of Oriented
Group Of Earth

(C) Global Oriented Group Language Of
Earth

(D7 Global Organization Of Oriented
Group l.anguage Of Earth

Google &1 Q@1 79 &

(A) TEE ATTERYH TG iRTes gu ddm

(B) :ﬁ;ﬁ AR 1% MFT=E Y i

(C) wiww Mfta=e Iu A=W afw ard

(D) ‘iﬂ'ﬁ ;:iﬁ'ﬂuﬁm 3% ARTE Y9
HTh

79 Chandrayaan-2 spacecraft has how many
modules ?

- 2 sfaiEuE ¥ e wiwqw ¥ 2
(A) 1 (B) 2
(EY 3 (D) 4

= LPTO.




80 Which Indian breed of dog was introduced
in Indian army ?
(A) Chippiparai «B) Mudhol Hound
(C) Rajapalyam (D) Kombai
W 1§ Fa & g Wi T @
it e o & 7
(A) fadqas (B) quid &6

(D) Hi=Tg

(C) TS

Which Indian company manufactures K9
Vajra/T howitzers in india ?

{Ajy Larsen and Toubro

(B) Tata Projects Limited

(C) DRDO

(D) BEL
27 B e FE wRa § K9 990/ e

81

Which of the following is not a part of
the Central Government ?

(A) President «(B) Governor
(C) Prime Minister (D) Home Minister

Br ¥ @ @ % G@K & few T ¢ 7
(A) Tgafa (B) T~auTA |
(C) wer=Tsall (D) sl

Find The Odd One Out from the given
alternative ? (Q. No. 83-84)

R3 T Ry ¥ favw @ gy -

(757 F91% : 83-84)

82

83 15, 27, 33, 41

(A) 15 (B) 27

(C) 33 (Dy41
84 11, 37.53. 69

(A) 11 (B) 37

(C) 53 (D) 69

CMKP9_D | 9

85 What is the full form of MSME ?
(A) Medium, Small and Micro Enterprises
(B) Macro, Small and Medium Enterprises
icro. Small and Medium Enterprises

(D) None of the above
MSME &1 Q0 79 &1 & 7
(A)m,m@mm
(B)ﬁmﬂ,mq‘srﬂwwﬁﬁ
(C)mm,mdsﬁmmmﬁﬁ
(D) SutEa § ¥ g T

86 What is the full form of HDFC ?

(A Housing Development Finance
Corporation

(B) Home Development
Corporation

(C) Housing Development Finance
Company

(D) None of the above

HDFC @& QU ™ &1 & ?

(A) TToRiM TgeaE BIEAE B

(B) 819 ¥gq@uiT HIEAH HYIEE

(C) wwftim Fawuie HIETH B

(D) 9 & & Hig o

Operation Meghdoot 1984 is related to

which of the following place ?
(A) Goa (B) Sri Lanka

(Cy Siachen Glacier (D) Kargil

1984 ¥ sty Huga Prafufaa F & foa
o gaftaa ¥ 7

(A) T (B) A

(C) frarem i@t (D) &R

The National Emblem of India is an
adaptation from the Sarnath Lion Capital
of :

(A) Chandragupta Maurya

\(B) Ashoka

(C) Akbar
(D) Kanishka
T 1 TE Wl
s &1 Frae ¥ o
(A) Sy i
(B) 19N&
(C). FHaT
)z

Finance

87

88

& QY
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8% Swachh Bharst Abhivan started on whose | 92 Whulialhamiuimmmmhemrnlmw ‘f

M Who is known as the “Father of Yoga™ ?

e

CMKP D)

berthday

(A} Narondra Mo 1
WBYM K GandhM |
{U) Rapy Lamidu

(D) Jawaher | al Nehu |
W wn wiven Reeldl oy R at e
F %

tA) 1t 9@

(Byow & wd

() el wedt

(D) Mgy W 3PS

i

{A) Swami Vivckananda
(B) Chidananda Saraswali
{C) Swanu Voda Bharat
D) Patanjali
QW & T $ Wy N e o e & 2
(A) T Rawrie
(R) freee v
(C) @ 3T W
(D) TR

A provess that converts carbon dioxide into
organic compounds using sunlight R
catied -

(A} varbonation

(B) buming - ‘

(C) combustion

P photosy nthesis ﬁ
m GRRE @ IR Y TS W G 6
gEis &) ouitafy 3 anibie dfe ¥ oftafte
@ sead d

(A) SRR (SIS )

(B) ¥T

() &|q81 (T8

(D) SR RaT ey

9s

as the Chiel Minister ol a state 7

JA2S yars (13) 30 years
() 3§ yvars (1) I8 years
Redh i & et & w3 Prgfer & fivg
wpre oy
(A) 25 wt (B) 30 wd
(C) 35wt () 18 wt

Which Indian Cricketer was recently given
the ‘Padima Vibhushan® award ?

(A) Virat Kohli
JBY Sachin tendulkar

(C) Mahendra Singh Dhoni

(D) Rohit Singh

e sty AT @ T R T e

qresrt Rar  wr ?
(A) oz wied
(B) aftm gt
(C) wieufite @)
(D) tfka fte

Where is the headguarters of ISRO
located?

(A) Mumbai (13) New Delh
dCrBanglore (D) Hyderabad
ISRO & yearerg &ef o fem b 7
(A) et (B) ¢ Reell
() & (1) evam

Who has the highest authority in India
(A) Prime Minister43¥rThe President
(C) Home Mmnster(1)) Delence Minister
wie & waren s A k2

| ;

(A) werFs) (1) Tty
(C) qeuad (1)) e

(PTO
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9 Which tcam won IPL 2016 (9 edition) | 101 ABCD is 2 rectangle. Its diagonals mect

by defeating Royal Challengers Bangalore at
- : . 0-
in the final ? | IBCDEEthﬁ fam O o7 B

.

(B) Mumbai Indians
€] Sunrisers Hyderabad
(D) Rajasthan Royals
Rew 29 3 IPL 2016 (9% edition) § Tiaw |

(A) et Tgefem !
(B) 7=¢ zfezdw C
EIC)) TR SR |  04=2x-1, 0D=3x-2.Find x.
) | O4=2x-1, 09=31-—2.x@$ﬂ I
97 During which year did World War 1 begin? | *170) | &L
fom o § faw gg - | 9% ga ? (€) (D) -
(A) 1918 (B) 1957 | 102 Euler’s formula for a Polyhedroa is -
{C)1914 (D) 1947 |  wgow = SEEt 93 € -
0 (A) F-V—-E=0dBy F+V-E=2
98 mx;fwd&mwm ? |  (C) F+V+E=0 (D) F-V+E=2
JCy Palm (D) Birch 103 Ramu invested an amount of ¥ 8000 at an
hm%ng{-wmt? interest rate of 10% per annum
(A) =fae  (B) ¥R compounded for 3 vears. Find the
compound interest.
el S (D) B | 7m % 78000, 10% v B T F 3 ®
_ 99 Which is India’s first super computer ? wmghs S T T 6 | SHET S%giE S
© \(AYParam 8000 (B) Param 80000 o & |
(C) Param 800 (D) Param 8 (A) X 2640
WA I G TG B W T \%{;gg‘g
' 000 (B) v 80000 ' .
:?;Egm ?D;‘TFIB (D) None of these (75 & &I -8l

104 Find the perimeter of the Trapezium -
100 Who is the captain of India in ICC One qeE & 9 S B0 -

Day team of the decade 2020 ? 1 :
(A) M. S. Dhoni By Virat Kohli _
(C) Steven Smith (D) Rohit Sharma
2o 2020 § ICC #9-8 &9 # 9d & \
(A; 4. 7§, aFl _(B) fate (B) 30
() ¥ fmw (D) Ofw el (D) 40
11 e { PT.O.
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108 Find the Interal surface area of & cuboid
whose length, breadth and height are
5 ¢m, 3 em and 4 cm respectively.

mmmﬁm.mmmmm
5@, 3 oh ofrr 4 W0 ¥, o ggm meduas
A5 A B |

(A) 48 cm? (&d?)

(B) 75 cm? (@412)

(C) 96 cm? (&h?)

\(D¥ None of these (g% @ = =¥

106 D

E C

/\

A B

ABCDE is a regular pentagon. O is a point
inside the pentagon such that AOB is an
cquilateral triangle. What is measure of

LOEA ?
ABCDE t& Ga&m & | O 38 Hidi % 473
% ot AOB s gubgA ¥ | LOEA %1 91
w1 a7
(A) 66°
(C) 54°

(BY 48"

(D) 720

10711 15% of A is equal to 20% of B, then
25% of A is equal to what percent of B ?

afr 4 & 15% aqar 7 B& 20% &, df A
&1 25%, B &1 fepaa ufdqera &m ?

1
(A) 30% \031/335%
(C) 35% (D) 25%
CMKP9_D |
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108 To contruct a quadrilateral, we need (o

know two diagonals and ~ sides.
(A) one (B) two
JCythree (D) all four

wpdn A Tam & fo w4 @ faet o
o yomd g B e

(A) 7= (B) @

(C) &= (D) ot =rd

109 If two diagonals are given, then we can

construct a

{A)Rhombus (B) Rectangle

(C) Kite (D) Parallelogram
afr 21 Pt o 7l @1, & &9 T BT @A
4

(A) gaagyH (B) s

(C) wan (D) 9T agqA

110 What are the factors of x* +2x2+9 ?
2 +2x2+9 T HEE T E 7
(A) (2 +3), (x* -3)

(B) (x* +2x+3), (x* +2x-3)
(C) (x* +2i-3)_:, (x? -3)
\(D)’(x2.+2:_f:+ 3).,(:1:2 -2x+3)

111 Square of 9x—T7xy 1S -

Ox—Txy T & :

(A) 81x2 +49x2y?

(B) 81x% - 49xy%
(C) 8132 +49x2)2 — 126x2)
(D) 81x2 +49x%y2 —63x%y

[ PT.0.




12 Simplity :
N 0

(@ --b-sz + -bz +ab)-(a+ aq(-a.z +8% - ab)
A 2q% - 25
B 242
U 2 TR
(D) Noae of these (TR ® X )
113 Evaluaie
ST
(129)* - 271)°
(A) 548,000  (B) 438,000

{C) 854,000 (D) 584,000
114 The number 2146387 is divisible by :
wem 2146337 Rrafws ot ¥
(A7
JBy3
(C) 1 :
(D) None of these (% & & )

115 If the 4-digits number 2xy7 is exactly
divisible by 3, then which of the following
is the least value of (x + y) 7
af 4-aire T 207, 3 N QR Ry
Bt @ R A R (x + ) W W I -
A) 3 (B) 1
(C) 2 (D) 4
116 What value should be given to * so that
the number 653 * 47 is divisible by 11 ?
« 3 T o gy TR aifE g8 653 + 47,

11 ¥ foofe & R °
JA) 1 (B) 6
(C) 2 (D) 9

117 32 + m is a prime number. What is the

least value of ‘m” ?
32 + m TH MY ¥ ¥ | m’ W N

a1 e 7

(A) 3 JBYS
(C) 6 (D) 4 L F
CMKP9_D |

118 100° 4 20°+5°
100° + 20° + 5° WY

0 -
5

(A) 125 (B) 23
|
st 3
©) 33 Py
...| ?

119 What is the value of (-1)
-y w7

(A) &

By-1
(©€) 1

(D)Nmeofthﬁsa(ﬂﬁﬁﬁﬂ)

120 Very small numbers can be expressed 1
standard form using  exponeats.

(A) equal (B) negative
JO positive (D) None of thes¢

TS §U % 2 S §e $ e _

3

(A) aUHT (B) HOTH®

(C) woTs D) ¥ § B T
121 In exponential form 149, 600, 000, 000 m

is given by

s &9 § 149, 600, 000, 000 @, ¥ -
AT 1.496 x 101 m ()
(B) 1.496 x 108 m (R)
(C) 14.96 x 105 m ()
(D) 14.96 x 10! m ()

122 In Roman numerals, there are only

basic symbols.
M el ¥ Faw SO e
LG
JATT (B) 8
(C) 9 (D) 10

123 The standard form of a lincar equation
one variable x 1s :

LR R R R R R U
{Ayax+b=0

(B) ax* +bx+c=0

(C) a b +ev+d=0

(D) o+t e’ +dvre=0
| RT.O




124 The highest power of the variable
appearing in a linear equation is :
@ Tl § W @ sty Wi ¥ -
J(X) 1
(B) 2
(C) 3

(D) Can’t say (&% & w&q)

125 The angle sum of a convex polygon with
number of sides » is :

n Y 399 AEYW & s Hn B A

(A (n-2)180°
(B) (n+2)180°
(C) (2n—4)180°

(D) (2n+4)180°

126 Which of the following statement/s is/are
true ? |
(i) All the rectangles are squares.
(i1) All the parallelograms are rhombuses.
(iii) All the squares are rhombuses.
(iv) Each parallelogram is a trapezium.
(A) Only (i) and (ii)
(B) Only (i1)
J(€) Only (iii)
(D) Only (ii), (iit) and (iv)
Rr=fafiag aradl ¥ 4 3 91/8 I T € 7
() @ amga 9 ¥ | |
(i) o Tt ogyw, TEgHT € |
(iii) &y =, gagys © |
(iv) BT THI=I agHe aHae € |
(A) Faa (i) 3T (i)
(B) e (ii)
(C) daw (iii)
(D) &aa (ii), (iii) 3T (iv)

CMKP9_D |

gives the number of times 5
particular entry OCCUTS.
(A) Organisation of data
(B) Collection of data
(C) Representation. of data
(D) Frequency distribution table
sifa FTan ¢ 6 a8 fae gfafe
Rl &t afed &3 |
(A) FiHe & FIET
(B) el &1 FAE
(C) ariet &1 fream
(D) sgfa T afera

127

128 The width or size of the class interval 30—
40 1s :
it s 30-40 & A9 A R F
Ay 10 3 (B) 30
(C) 40 (D) 70

129 The areas of two concentric circles
forming a ring are 154 sq. cm and 616 sq.
cm. The breadth of the ring is :

Q) GHlEm g9l & dF%w 154 I AW AT
616 T FW & | T T Il HP D
a8 ¥

(AY7 cm (84)
(C) 21 cm (&%)

(B) 14 cm (34)
(D) 28 cm (@)

130 A square and a rectangle have equal areas.

If their pgrimeters are Py and p,
respectively, then :

T o AR AT B FIBA IUST & AN
6 U HEw: pp WX py ¥, A
(A) P <Py

By P =P,

©) P> Py

(D) None of these (379 ¥ &5 =&))

: 14

[PT.O.




625 is a'am -
- 135 In the given fig. if /. then find the

JB7 Automorphic number value of x (in degree).
iflz::pifmmher R v Rrw & ot £) m. 8 x ® o (AR
(D) Palindrome number
Sy ; ¥) g &0 |
(A) T DI T
(B) T8 NErAew Ty
(C) us ¥wE W
(D) T& s JaY l
1321f x = 20 and y = 40, then x and y are :
(A) Directly proportional ‘ | AV 105 (B) 100°
(B) Inversely proportional (C) 110° (D) 115°
(C) Neither directly nor inversely
proportional | 136 External angle of a regular potygen is 72°.
DY Cannot be determined Find the sum of all the intemal angles of
W x=WaRy=400, AxdMp¥:| it.
(A) €8 o | e ® W w720 b 3es 8
(B) SgEBTIRH S & 99 W S
(C) 7 A8 i 7 YEETIRN (A) 360° (B) 480°
(D) v/ ¥ ¥ oW (C) 352° (DY540°

i

133 If 12 workers can build a wall in 50 hours, | Directions : (Q. No. 137-140) Study the
then how many workers will be required | following table and answer the questions based
to do the same work in 40 hours 7 | on it
% 12 warh s fan ® 50 v} § € | The table given below depicts the exports ot
s ¥ @ Read sdarh g @ W 40 v a commodity through four ports in the years

¥ Hin ¢ 1998 and 1999. |
(A) 10 (B) 13 | frder : (wew wE 137-140) Pt oitvst &t sreas
(C) 14 R gh | FT EU I W AiE wed W e AR

A & T aver o e & W STOTE @

i 134 The value of (34)3 is 1998 3Nt 1999 ¥ frata & =i ¥y
b , - % *
Port | Export in 1998 | Export in 1999
34Y da T crore)
(3 ) H 91 ¢ - e
(A) 3 (1_ ﬁm“
By 3'° 61
: 160
(€ 37 | e
(12) None of the above (T ¥ g T8) | 150
15 | { PT.O.
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137 The percentage increase in the export of
the commodity from the year 1998 to 1999
was the highest from which port ?

Ty B o 1998 ¥ 1999 7% wewd Wioww
aen g sRTmE A ¥ 7

JATA (B) B
(€) C (D) D

138 What was the change in the aggregatc
export of the commodity in the year 1999
as compared to the year 1998 ?

JAY Nearly 4.3% increase

(B) Nearly 4.3% decrease

(C) Nearly 0.04% increase

(D) Nearly 0.04% decrease

T % 3 Prafa ¥ wwerE ad 1998/ 1999
¥ fgam &7

(A) TWT 4.3% @

(B) ®va 4.3% ®Td

(C) s 0.04% w&d

(D) &v 0.04% w2d

139 What was the average increase in the
export of the commodity from the ports in

the yvear 1999 as compared the year 1998 7 |

a=CE @ Ty & Prafa F a8 1998 ® 1999
¥ feah oheg 3fs &7

(A) T 8.25.00.000 (B) T 8.00.00.000
(C) T 7.50.00.000 (DY 6.25.00.000

140 The percentage increase in the export of
the commodity from the year 1998 to 1999
was the lowest from which port ?
arg & Prafa § gem vl gfe T¢ 1998
F 1999 7% fou T=TmE ¥ §F 7

(A) A (B) B
i C (D) D
CMKP9 D ]
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141 The factors of 49 pt~—30 B8

142 The factors of Im> +9m+6 are
Im> +9m+6 & PEAES t -
(A) (m+l)(m+2)
By 3(m+l)(m+2)
(C) 6(m+1)(m+2)
(D) 9(m+1)}{m+2)

143 A polynomial commns __ number
of terms.
(A) One (B) Two
(C) Three (DY Any
R 4 ven s wEd &
(A) @@ (B) @
(C) o (D) s W

144 If we add, 7xy +5yz - 3zx,
4yz+9zx—4y and -3xz+5x-2xy.
then the answer 1is :

Txy+5yz-32x, 4yz+9zx -4y M
3xz+5x-2xy WMAME -
Ml‘y+9}z+3§+i’:-4;

(B) 5xy—9yz+3§-—5.t-4;.:

(C) Sxy+10yz + 3x+15x =4y

(D) Sxy+10yz+3zx+5x -6y

=T 4 "' i ;
T e S T e A R o Lot ;

Ch i i P bl "".' ey "‘ .-.I "-'i; I[ﬂ:"ﬂ. b
Solnsan ettt A St Ry

| PT.O.
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aumber s 8 :

Ry e e o e 8t -
(A) 8. 16, 17 (B) 8 17, 18
©8 15 17 (D) 8. 1S, 16

147 Which of the following is a perfect square
aumber ?
P g S e S §7
(A) 2222 (B) 888
¢C) 4333 (DY 1936

148 By what number should 81 be divided to
get a perfect cube ?

o gou § 81 & fawikea foar 99 B i |
grasH wa © ¢

A3 (B) 6

(C) 7 (D)9

149 Cube root of 512 is -

512 & SR & -

(A) 4 (B) 6

yCr'8 (D) 12

[SIApafectmbeofamberhavingOalits
unit place. ends with ZET0S.
& dom w1 T W e @8 @F 0§,

o 9 T wdl § |
(A) 1 (B) 2
O3 (D) 4

CMKPSD]
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(A) always divisible by 96

(B) always divisible by 48

{C)-always divisible by 24

(D) None of these

aR n ©& R @em & 4 | an“rt ar

n(nz--l)

(A) 96 & war i &
(B) 48 ¥ war Rpwfsra &rl
I (C) 24 et fqmifa &0t
(D) 3 & &1 @I

| 152 F’mdtlmlargcstpossiblcnmnbﬁofﬁ digits
which is exactly divisible by 32. 36 and
40. i

5 sida ¥t § ¥ HeT Fi| BT | 32,

36 3T 40 ¥ pigar fawiag &kl & -

\(A)99360

(B) 99036

(C) 99306

(D) Nome of these {7 ¥ & =8

L 153 If HCF of two numbers is 8. then which
of the following can never be their
LCM.?

_ ik 3 el o 1.9Y. 8 G s W E Y.
! = 4 3 & & g 39 T e C

(A) 24 AB) 48
. ©36 (D780

{PTO.




154 Out of three given numbers, the first | 158 A shopkeeper has announced 14% “‘v'baleé
on marked price of an article. If the selling
price of the article is T 645, then the |

number is twice the second and thrice the
third. If the average of these three numbers

is 154, then what is the difference between |

the first and the third numbers ?
R = & o ¥ e o
ST W o R ¥ 1ol @Y o @ oled
gﬁ,ﬁmmmﬁwmﬂ

(A) 126 (B) 42
J(C) 168 (D) 52

155 If the average of the ages of Rakesh and
Mohan is 15, average of the ages of
Mohan and Ramesh is 12 and the average

of the ages of Rakesh and Ramesh is 13. |

then the age of Mohan is -

TS TSN AR BT B 3w B ahwa 15 ¢
WET X W W IW W oiwg 12 ¥ aix
TSN 3R O & 3w & 3w 13 &, o) mrew

& IWE - .
JA) 16 (B) 13
(C) 14 (D) 12

156 A box has 100 blue balls, 50 red balls and
50 black balls. If 25% of blue balls and
30% of red balls are taken away, then
percentage of black balls at present is -
& 9 ¥ 100 W), S0 @ 3R 50 @R
W T 1R 25% TR A 3T 50% @ 7 |
e @ st €, O s ¥ B e @
gy ® -

1

\(B')/ 33—-%

(A) 25% 3
(C) 40% (D) 50%

157 The cost price of an item is two third of
s selling price. What is the gain or loss
percent on that item ?
el g &1 w9 TR SES 95T T & @
foers & 1 99 I W @™ @1 @ & wiaea
I BT ?

|

|

T B G |

|

{

(A) 45 «BJ 50
(C) 35 (D) 54
CMKP9 D 18

marked price of the article will be -

A

uF geME A el

14% %) gz 3 gon @ ¥ 1 3R a5 7 Ry

qea T 645 &, @ TG & iha YF wm -

(B) 810

(A) T 800
(D) T 775

(O T 750

144

years is equal to the rate percent per
be the rate percent per |

annum. What will
annum ?

T Redt i o e v ST = e

m]—h%aﬁtaﬂa&mmuﬁmr{
& TR ¥ | i e T = A 7

3 » 5
=% CABy—%
(A) e wﬁ ’

ot

lllllll

70
(C) 'g"'

160 The cost price of a car is T 4.00.000. If its
price decreases 10% every year. then what
will be the cost of car after 3 vears ?
BB BT Y2 T 4,00.000 ¥ | af% 3597 2
10% wiv 9 &t =2 @ &% & &, @ 5w are
B BT Y 3 TN AT | a7
(AT 291600  (B) T 2.96.100
(C) X 296,001 (D) T 2.69.001

161 A cat takes 5 leaps for every 4 leaps of a

dog, but 3 leaps of the dog are cqual to
4 leaps of the cat. What is the ratio of the

Speeds of the cat to that of the dog ?

hﬁhwﬁtu-amwsmam
| | 1§ : B 3 F IR

T U | ﬁ i o

(A) 11:15 “(B) 15: 11

(C) 16: 15 D)Y15: 16

TrpTrn

of the principal and the number of .

Wm‘i-ﬂlwé

| 159 The simple interest on a sum of money is




162 In a firing range, 4 shooters are firing at
their respective targets. The first. the
second, the third and the fourth shooter
hit the target once in every 5 sec., 6 sec.,
7 sec. and 8 sec. respectively. If all of
thfeilln[hhit ltjhe:ir targets at 9:00 am, when
will they hit their targets together again ?
% tﬁmfyl'rl & 4 4 Fymar o a%a‘i &

qud ¥ | e, gE, dra o dren frgmar

TN SW, 6., 7] AT 8. ¥ o wem

ﬂi?az&;ﬁ;?%mammmm

e , foha a9 U |y

W B Y 7 = -

(A) 9:04 am

(B) 9:08 am

€)Y 9:14 am

(D) None of above (378 & #i§ ¥

X z
163 If (‘J“'(""), then what is equal to |
y w

(xy +2w)* ?

w

= (i] ] (i) 3 (s +2w)’ 71 |

y
FE ?

@ (22) )
B) x? y? +2° W
©) x2 w? + y* 2*
(D) (x2+w2)(y2+ 22)
164 If 3a=4b=6c¢ and
a+b+c=27+29, then

Ja2+b2+cz'= 7
gk 3a=4b=6c 3

165 Find the value of le-J 12— 12— e
uH Wd #U le -eJ_,_ 12— 12— weeeen

(A) 2 J4B)3
(C) 4 (D) 12

166 Arrange 43,32 and §f5 in the
decreasing order -

43 37 o 65 ® gza B9 ° ferdl -
(A) 43, 32 and /'l §5
(B) 32,45 and / gt 43
(C) %,:‘Eand/é‘n%/f
Y4B, §5 and / e 12

167 Solve -
& U —

(5.9) + (1.8)° + (4.3)?"?—3 x59x1.8x48

| (5.9) +(1.8)% + (48> -59x1.8-18x48-48x59

(A) 125

(BY 12.5
(C) 125

(D) None of these (375 & &g 7%

168 If x(x+y+z) =9,-_J_.y(x+y+z) =16 and
zZ(x+y+z)= 144:,_,1-'."_then value of x will
be -

R x(x+y+z)=9, y(x+y+2z)=16
X z(x+y+2z)=144 &, @ x & °A
T -

= ar 9 .9
a+b+c 27@ &, (A) < (B) _7_
J el 2 9 g
a“+b " +c° = 9 | 16
(A) 3429 (B) 81 3 D) 3
(C) 87 (D) 89 |
CMKP9 D ] LS 2By [PT.O.
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169 A rectangle of maximum area is drawn
Inside a circle of diameter 5 cm. What is
the maximum area of such a rectangle ?
5 @ = T 99 § 39 UH Hedd
G B MGG N ¥ 39 g F qeAN
ATEA T BN ?

(A) 25 cm? (@%2)

(BY12.5 cm? (@92)

(C) 12 cm? (¥H2)

(D) None of these (7% q &% =18

170 ABCD is a square. E and F are the mid
points of BC and CD. What is the ratio of
the area of A AEF to that of the square

ABCD ?
ABCD t& @3 |IE 3l F, BC iR CD &
e fag ¥t A AEF & 3% ot = ABCD
% &ABW B STIUI FT €M7

43
D F c%f:a
s 7
W3:8 ¢ (B)S5:8
QiEts R : 4

171 A tank is 7 m long and 4 m wide. At what
speed should water run through a pipe,
5 cm broad and 4 cm long so that in 6 hrs.
and 18 nu;., water level in the tank rises
by 4.5 m ?

% $a & g 7 AL ol e 4 W1 ®) few
Ry & G SR, TH Y B A S A ey
e 4 4 wan &, R 6w S 18 By
Y% % U & WX 4.5 W I5 T |

(A) 12 k/h (fe/E.) (BY10 k/h (ford.)
(C) 14 kh (Rerd.) (D) 18 k/h (/)

CMKP9 D] | 20

172 A train overtakes two persons who are
walking at the rate of 4 km/h and
8 km/h in the same direction and passes
them completely in 18 sec. and 20 sec.
respectively. Then the length of the train
s -
w39 3 fedl, S U R ¥ 99 W@ €
alr Rl g &) 7ifa 4 R/, i 8 o/,

¥, 3 e 18 . ot 20 4. F X A &

GEoR o R @ CEE
(A) 300 m (d=zx) (B) 400 m (¥=Y)
«CY200 m (@) (D) 100 m (#eD)

173 If three unbiased coins are tossed
simultaneously, then the probability of
getting exactly two heads is -
qi¢ a1 freaer s wa9: 9B o, O 3@
& i o & dvraer § -

| 2
(A) 2 (B) 3
(03)— =
8 -(D) 8

174 The probability of getting a composite
number, when a six-faced unbiased die is
tossed. is -

afg 6 wed & Frow T @ Y@ 9@, @
YF T B A B GHETT & -

1 _
(A) 7 ‘LB«)";','

1
€) 3 (D) 1
175 The base of a Parallelogram is thrice of

?ts height. If the area of the Parallelogram
1s 2187 sq. cm, then find its height.

THICR TG B ST THe! S 7 forvpn &
i FRIAT TP B Srww 2187 @ Ay &,
O IHDH HAE T HA |

(A)27 cm (&)  (B) 35 cm ()

(C) 29 cm (@) (D) 26 cm ()

[ PT.O.




Ifewan i / Lntelligence Test

pfrecﬁons (Q. No. 176 - 177) : Read the
information given below carefully and answer
the following questions :

Five friends A, B, C, D and E travelled from
Tamil Nadu to five different states Uttar
Pradesh, Maharashtra, Rajasthan, Karnataka
and Punjab by 5 different modes of transport.
Cycle, Bus, Train, Truck and Bike. The one
who travelled to Rajasthan did not travel by
Bike. C went to Karnataka by Truck and B
went to Maharashtra by Train. D travelled by
Bike and E travelled by Bus. Tamil Nadu is

not connected by Cycle to Uttar Pradesh and
Rajasthan.

FZer (Q . No. 176 - 177) : g & 75 a7t
P &FYES 98 ot fEfotaa 997 & gY@ -
gig B A, B. C. D U9 E uftqe7 & wig fr=
TOF — GrEied, a4, 29, 2% U4 and & dHag
g uia aIorT-oie Iedl - I Wesl, FEIUE,
I, Be® Ud g @ a1 Fd & | AT
S aret 3 g2 @ aEr 7@ @ 1 C 3F q FeD
7qr UG B 29 @ 7ERE W4T | D 7 a5H & A
# uq E 7 39 @ a3 @1 | der, I WRT 3T
T A% anglee @ T8 g3 8

176 What means of Transport did C use?

(A) Bus (B) Cycle

(C) Train D) Truck

afraes % feg @rgw & C ¥ Sqar fear ?
(A) 99 (B) argfener

(C) 2 (D) 2@

177 Which state did E travel to?
A Rajasthan (B) Maharashtra
(C) Karnataka (D) Uttar Pradesh

E fipg o0 @ 9iE B § 7
(A) T (B) HETU%
(C)a,-qiza; (D)Wﬂ'&ﬂ
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Directions (Q. No. 178 - 179) : Refer to the
alphanumeric series given below and answer
the following questions :

frde1 (Q. No. 178 - 179) : #a & 75 sremrgalia
Joft &t 98 Gilv Ffelad 991 & Ja7 & -

A*SOINEE@#U1&

178 How many vowels in the above
arrangement are preceded by a symbol?
(A) One By Two
(C) Three (D) None
HUX § T awn § fhad @ & B W@
Tiis & 7
(A) T&
(C) dH

(B) =

the sixth element from the right?

g ?
(A) & (B) @
JCN (D) E

180 In a row of students, the position of Sakshi
from the left side of the row is 26t and
position of Sakshi from the right side of
the row is 35!, Find the total number of
students in the row?

BTl @ U Ufea #, Ufed & ST SR 9
e &) Rafy 2647 & ofix i & I™T o
g qreft ) Rafy 354 & | 9 o sEned &
& §Id ieg |

(A) 67

(B) 32

(C) 46

None of these (378 ¥ &g 7T&l)

181 Rita told Mani, “The girl [ met yesterday
at the beach was the youngest daughter of
the brother-in-law of my friend’s mother.”
How is the girl related to Rita’s friend?

Cousin (B) Daughter
(C) Friend (D) Aunt

B A =T & Faran, A wA g 92 9T e
WD ° e, 98 AL IR @ W1 &b AT @l
geq B 33 4 |7 g% @sH! a1 &l 2 |
Y GER@ & 7 |

(A) Toll T8 (B) &

(C) g (D) ==

| 2T.0.

179 Which is the second element to the left of é
ol




s B

R
AT }li‘r'.f':‘aitil-;;.'-. ]

182 From the given options. find the pair | 187 How many numbers are there in the series

which is similar to the given pair — 8 : 4

R M el ¥ A 3w A w g @ RA W
T HFFHE - 8:4 .
(X)) 27:9 (B) 216: 32
(C) 72:24 (D)45:5

183 Which letter is exactly midway between
G and Q in alphabet ?

U ¥ G R Q ¥ A5 g AT 1 AT
A ¥ ?

(A) K JBYL

(C) M (D) N

184 If A interchanges position with B, similarly
C and D interchange positions and so as
E and F and so on upto Y and Z, then
which of the following will be seventh
from the left ?
gt A ot Rafer B & sgean 3, 36 e C
3 D ot Rafy sgwa § oan 380 @@ E
3 F ud Y @& Z o, o Preafafga o & &
ardi 3T A W g ?
(A)A 4 . (B)F
©).L;4 . (DY H

185 Find ‘the odd one out in the following
anagrams : |

T PrerfeRen ot Rda § ¥ Rew @ sl -
§@. (ATSPO

(B) PENOH
(CrGNDREA (D)DROIA

Directions (Q. No. 186 - 187) : Based on the
digit-alphabets-symbols series given below,
answer the following questions:
fZ91 (0. No. 186 - 187) : e & Tt Sid—nTT-
gdliat & s@ar & e WY frEriied 99l &
gat qfad -

@18HLI6K*&?UE

186 How many such consonants are there in
the series which are immediately followed
by a symbol and preceded by a number?
«(A) One (B) Two
(C) Three (D) None
sgen ¥ fead 4@ @ §, @ 0 e
qedt & T4 3% & A% B 7

(A) T& Bz
(C) a1 (D) &g &
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which are preceded by a vowel and
succeeded by a consonant ?

JAYOne (B) Four .

(C) Three (D) None

mﬁﬁmﬁ@rmthﬁmwm

¥ ol a & = ¥ 7

(A) @ (B) 9

(C) d (D) ®1 &
188 Find the odd one out from the given pairs.

R T wE ¥ @ feg wifed |

(A)S5: 15 B)y24:70

(C) 33:99 (D) 121 : 363

Directions (Q. No. 189 - 190) : Find the
missing element in the series given below :

@91 (Q. No. 189 - 190) : #id & T Sa@er 4
SUgFT f[d@ey Biied -

189 ABD EFH UL MNP QRT ?

(A) XYZ (B) VWY

(C) WXZ JDYUVX
190 ACE ? MOQ SUW

(AYGIK (B) FHI

(C) GHJ (D) GIL
191 Look at this series :

3 G B W ¢

12, 11, 13, 12. 14, 13.

What should come next ?

M FT T ARy ?

(A) 10 *(B) 16 .

(C) 13 D) 15

192 If P denotes + , Q denotes *,

R denotes /, and S denotes — , then
1I8QI2P20 R 5S 6 =79

(A) 46 By 214

(C) 210 (D) None

g PRl & + @Y, Q guifar & * =Y,
Rayfar & /&Y, Savfenr & — &), &
I8QI2P20R §S 6 =72

(A) 46 ~(B) 214

(C) 210 (D) &

[PTO.



193 Find the missing one.

wh e g |
GF:J1:SR: _7

(A) VQ (B) WN
(C) VN O Vu

194 In a class of some students standing in a
straight line. The position of Ben is 315
from lcfl end and 9" from right end. How
many students are there in the class ?
UE HE o P9 femmdt v dreh ofm A w@d ¥
I FH WH T AT F 319 ol T i |
951 ¥ | 3w o o fammdt ¥ 7
(A) 40 (B) 43
(C) 38 U7 39

19511 A is coded as +, B is coded as —. C is
coded as * and D is coded as /. then
evaluate: 3A4BSC7D5C2
g + M EHI AL, - ESAB Y, * @
H&ha C ¥ 3l / &1 §&a D %, o1 geare &¢
:3AABYCIDSE 2

(A) 6 (BY~-7
(C) 3 (D) 13

196 Directions : Answer the question based
on the following data :
Among the six persons A, B, C, D, E and
F each have different weight. A is heavier
than 3 persons. C is lighter than E. D is
lighter than only B. C is not the lightest.
The second heaviest person is of 66 kg
and the second lightest person is of 32 kg.
fader — freferfra siiws] & amar 9T 997 &1
gav -
B &FT A, B. C, D, E 3R F & dl7 7%
BT o g & | A o7 s@far & wri €
C Edemrg ID3awBaeew ¢ I1C qad
g7 72T & 1 g9 Wit |y 66 Rt @ &

197 Find the missing one.

w6 fameg g7 |

KM QS8: 1

(A) RU (B) RT
(C) RS @) ST

198 Among P. Q. R, S and T each having a
different height. Q is shorter than only
T and S is shorter than P and Q. Who
among them is the shortest 7
(A) R (B) S
(C) P (D) Data inadequate
P.QR.S. Tyds Rt ae & & | Q &3«
Tt oS, PalR QA v ¥ 1 7
q 39§99 B ¥ 7
(A)R (B) S
(C) P (D) =1 IqErd &

Directions (Q. No. 199-200) : P O, R S, T,
V. W and Z are sitting around a circle facing
at the center. R is fourth to the left of P, who
is second to the right of S. V is fourth to the
right of S. Q is fourth to the left of W, who is
not an immediate neighbor of P or S. Z is not
an immediate neighbor of R.

fder (0. No. 199-200): P O.R S, T, V, W
U9 Z U G0 & a0 3T 3% I a¥% §@d 59
SBEIRPFFII NI RTRE F1SF g
gt @awE IVSseFddamE IO W
FIF AT TR TGP wrS I T
gsigr 78 8 1 Z, R &7 dwier Gsiar 7@ & 1

199 Who is to the immediate right of V ?
V& gl A aH § ?

3 Zat AT F T A 32 Rt @7 1 EQ;FZ( (g)/‘l;v
Who among the following persons weight (D)

is 66 kg ? .

P & & 2 & e 1 @ 66 ot | 0 D0 b;m;nﬁ?;dtv ?
¥ .
e (B) C (A) R (B) T
hhE (DD (©) s DYz
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